## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Authorizing the Tohono O'odham Vocational Rehabilitation Program's FY 2000 Budget Amendment)

RESOLUTION NO. 2000-043

1	WHEREAS,	the Tohono O'odham Legislative Council previously supported the Nation's
2		Education Department to submit a grant proposal and establish a vocational
3		rehabilitation program under Resolution Number 98-202; and
4	WHEREAS,	the Tohono O'odham Nation was awarded a grant under Rehabilitation Services
5		Administration's Section 121 (Vocational Rehabilitation Services Projects for
6		American Indians with Disabilities) of the Rehabilitation Act and received grant
7		notification number H250G980011; and
8	WHEREAS,	the Tohono O'odham Legislative Council previously authorized Resolution Number
9		99-547 to establish the FY 2000 budget at \$327,068.00; and
10	WHEREAS,	the Tohono O'odham Vocational Rehabilitation program has a carry over from FY
11		1999 in the amount of \$115,361.42; and
12	WHEREAS,	in addition to the fiscal carry over the Tohono O'odham Vocational Rehabilitation
13	i	program has a salary savings from October 1, 1999 through January 21, 2000 in the
14		amount of \$16,309.17 which is being moved to current and new line items with the
15		FY 2000 budget to meet program needs; and
16	WHEREAS,	the Tohono O'odham Vocational Rehabilitation program requires a budget
17		modification to access the carry over funds, carry out program activities as
18		designated by the grant proposal and maintain fiscal responsibility.
19	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative
20		Council supports the Tohono O'odham Vocational Rehabilitation program and
21		authorizes the modifications to the previously approved FY 2000 Vocational
22		Rehabilitation budget to include FY 1999 carryover in the amount of \$115,361.42
23		and to utilize salary savings in the amount of \$16,309.17 as needed.
24	BE IT FUR	THER RESOLVED by the Tohono O'odham Legislative Council that the Tohono
25		O'odham Nation's Officials, to wit: the Chairman and any designated official are
26		hereby authorized to execute and expend the grant award and provide culturally
27		appropriate vocational rehabilitation services to its eligible consumers, provided

	RESOLUTION NO. <u>2000-043</u> (Authorizing the Tohono O'odham Vocational Rehabilitation Program's FY 2000 Budget Amendment) Page 2 of 3							
1	however that any amendments affecting the funding or funding levels of this gran							
2	shall be submitted for further approval.							
3	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>08TH</u>							
4	day of <u>FEBRUARY, 2000</u> at a meeting at which a quorum was present with a vote of 2.165.5 FOR							
5 6	<u>-0-</u> AGAINST; <u>-0-</u> NOT VOTING; and <u>[06]</u> ABSENT, pursuant to the powers vested in the Council b							
7	Section 1 (d)(2) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistan							
7 8	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of							
9	June 18, 1934 (48 Stat. 984).							
10								
11	TOHONO O'ODHAM LEGISLATIVE COUNCIL							
12								
13								
14	for							
15 16	Dennis Ramon, Legislative Chairman							
17	11 day of Heling, 20 ov							
18								
19								
20	ATTEST:							
21								
22								
23	Julia Land							
24	Julianna Saraficio, Acting Legislative Secretary							
25								
26	08 day of <u>Ilbuay</u> , 20 00.							
27								
28								
29	Said Resolution was submitted for approval to the office of the Chairman of the Tohono							
30	O'Odham Nation on the <u>//</u> day of <u>Hehry</u> , 20 <u>00</u> at <u>9:30</u> o'clock							
31	$\underline{\mathcal{H}}$ .M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will							
32	become effective upon his approval or upon his failure to either approve or disapprove it within							
33	48 hours of submittal.							
34								
35	TOHONO O'ODHAM LEGISLATIVE COUNCIL							
36								
37								
38	to the second se							
39	Dennis Ramon, Legislative Chairman							
40								
41								

	RESOLUTION NO. 2000-043 (Authorizing the Tohono O'odha Amendment) Page 3 of 3	nm Vocational Rehabilitation Program's FY 2000 Budget
		i the
1	11 - 7 \ -	on the 14 day of February 20 00
2		at <u>2,′3</u> %'clock, <u></u> .M.
3 4		atMM.
5		91 N N
6	II .	Mund Man
7		EDWARD D. MANUEL, Chairman
8		TOHONO O'ODHAM NATION
9 10		
11		
12		
13	ll .	retary on the 14 day of
14	<b>19</b>	
<b>15</b>	Library ,2	0 <u>00</u> , at <u>4:21</u> o'clock, <u>P</u> .M.
16		•
17		
18	Julianna Saraficio, Acting Legis	lative Secretary
19 20		
21		
22		
23		
24		
25		
26		
27		
28 29		
30		
31		
32		
33		
34		
35		
36		
37		
38 39		
40		
41		

ACTION: AUTHORIZING THE TOHONO O'ODHAM VOCATIONAL REHABILITATION PROGRAM'S FY 2000 BUDGET

**AMENDMENT** 

MOVED: COUNCILWOMAN FRANCES MIGUEL

SECOND: COUNCILWOMAN BARBARA SALVICIO

DATE: FEBRUARY 08, 2000

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	X			
	2. RITA MARTINEZ (Nicholas Jose)	85.9	X			Х
SELLS 372.7	1. DENNIS E. JOSE	186,35	x			
372.7	2. EVELYN JUAN ( )	186.35	X			
SCHUK TOAK	1. MARY FLORES	66.7	X			X
133.4	2. AMBROSE ENCINAS	66.7	X			
SAN XAVIER	1. TONY BURRELL	82.95	X			х
165.9	2. DENNIS RAMON	82.95	X			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	X			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			
GU ACHI 209.6	CAMILLUS LOPEZ     (Louis Johnson)	104.8	x			
209.0	2. ALEX J. RAMON ( )	104.8	X			x
PISINEMO 156.8	1. BARBARA SALVICIO (Alex Antone)	78.4	X			
150.6	2. JOHNSON JOSE	78.4	X			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	X			X
128.1	2. GLORIA RAMIREZ ( )	64.05	Х			
GU VO	1. FERN SALCIDO	80.0	X			
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0	X			
HICKIWAN	1. ALEX JOSE (Shirley Santos)	79.05	X			x
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	X			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	X	-		
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	X			
T	OTAL	2,165.5	2,165.5	-0-	-0-	[06]

<sup>\*\*</sup>PASSED VOTES